AR 5T {45 8 &5 8 (— A i i)

5 x 8 SM74E784H (&) Kix: G5
. BR5E Bk 5 1 #%

= P —N

nn- £ M= () By = I = 1l E ih
EEBR] 6.5 5 1,100 400||& (A 7
L EN=E 3 = & i
E S 8.2 10k 1,100 500||4& [if] [FE i
Fgy—>mR—IL 10k * AN
LARX 2.1 A 1,500 800||E I |12 il [ £ g5
=F 0.6 3k 1,000 600]IX Wi
INEE 0.1 100g 150 63|1X k& L8 fif]
T 0.7 5k 3,600 1,210||4& [if]
KE 0.6 | 200g 100 80|l ]
INATE 16 | 200¢ 80 66|l it
F5ShAE 0.3 | 180g 160 81]lf& [if]
xR 0.2 2k 1,300 700||%& [if] [FE N
=% 0.1 150g 110 60|l& [if]
g 0.3 100g e Fal
HDIE 0.1 100g 80 10} ya
KE 0.1 100g 700 450]||X Wi
/371 0.1 5k £ 218 [if]
*55 0.4 80g 90 30||& MW R B[ 7
WAITFA 0.1 2k 3,000 1,450]|&E NS [if]
Be 0.3 | 400g 171 70|l R Bl& fitd
ICALCA 1.8 10k 2,700 200|([gE AE %[ F
£ 10K BE X = (i =
w=LE 250g & ]
AR #a & =1
By 0.1 10k 1,200 600||EE 'R B8 A= I
EE 9.7 10k 1,500 900||i& EHE Al E 1%
HEE 0.9 5k 2,100 600]|AE A R &
Cehilrg 0.4 10k 1,600 610||E % |14 =
EX: 0.3 4k AE N
hF(ER) 25 | 500¢g 149 30|l4& ]
mF 0.1 A 1,200 600| |5 X
k= hk 25 4k 1,980 500|145 fif] [FE A
S=k2k 0.3 | 200¢ 180 160||X )
i 14 10k 2,500 2,000|[&E P
E—<> 0.8 = 2,400 1,500||X o E EE R B
A 2.7 5k 1,900 150||%& FES I [HE 7N
I/)XE 05 | 100g 35 20||1& FIES »E [
SELHE 0.2 | 100g 35 28||%&E fif]
SELHL 0.2 | 200g 65 60|l& ]
HHEE 0.3 | 100g 120 34|l& fif] [ BE AKX 7
EUVE 0.1 100g 80 75| E U | #h P
FRINTG 0.1 100g 140 22||& fit]

— - AR KT REGFETHS

REDMRIEE KEEFE

ABRTR

ROHE




ARFT &R & & (— i)

R=ER 20254E7H4B  (£) Xig: WA )
S R = il A
=] *HE=
oA BEO wy T aE | wE | ZE B

BLaLEIE 0.1 P 670 530 460| |3 [iF]
FH/:3—F)L] 0.1 P 901 766 600||%2 W
=1 0.1 P 638 330 230||%& [if]
5% 0.1 P 370 300| %8 [if]
RCYNES 0.1 P 900 560 480]|LL 2
£ 0.1 P 450 288||1& fif] | 1% =i
INEFER 15 | 10k | 3,900 1,880||f8 XK|t82 [
AOY 09 | 5K 2,200 1,500]||E I
INTF 27 | 13K 3,300 TJ4)E Y
Lo 08 | 17k 8,500 F—2F507
LEY 03 | 17K 9,000 F 1)
gL—7 0.1 17K 6,000 +—RLSU7F

2.8

0.7

04

BRI AR 104 O o

REDFRMAR KEEEH
ABRTR

RO#HE




